01.

SPOTTING ERROR

- Question Tag

Identify the segment in the sentence which
contains a grammatical error. If there is no
error, select 'No error'.
Every Saturday, your mother prepares a
pudding, isn't she ?
(a) isn't she
(b) Every Saturday, your mother
(c) Prepares a pudding
(d) No error.

SSC CGL (Tier-II) 08.08.2022 Shift-I1

Ans. (a) : SUUS a9 § "[sn't she" & TN W
doesn't she ST ST BN Fifsh a9 Present
Indefinite tense 1 Affirmative sentence & F&H
T 5521 & §T does/do FT ST &A1 § fh o
Positive g 3EfATT gHaT Question tag 'Negative' uil
Note : Positive Sentence &1 Question tag 'Negative' T
Negative Sentence %I Question tag 'Positive’' I 21
Correct Sentence: Every Saturday, your mother
prepares a pudding, doesn't she?

2. The following sentence has been split into
four segments. Identify the segment that
contains a grammatical error.

Your eldest sister/ lives in / a big city,/ does she?

(a) abig city (b) lives in

(c) does she (d) Your eldest sister
SSC CGL (Tier-I) 13/04/2022 Shift-1

Ans. (¢) : IR a B "does she" F TIH T doesn't

she &I SN BT Fif% Positive Sentence FT Question

tag 'Negative' 79T Negative Sentence I Question tag

'Positive' BT 7 |

Correct Sentence: Your eldest sister lives in a big

city, doesn't she?

3. The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

One of these / boxes have / the portrait / of the
heiress.

(a) of the heiress (b) One of these
(c) the portrait (d) boxes have
SSC CGL (Tier-I) 20/07/2023 (Shift-I)
Ans. (d) : S a H "boxes have" & WM W
"boxes has" & FANT B FifH one of & & Plural
subject TIT singular verb bl AT Bl 2|
Note— One of + Plural Subject + Singular verb
Correct Sentence—
One of these boxes has the portrait of the heiress

4. The following sentence has been split into four
segments. Identify the segment that contains an
error.

Neetu have been/ waiting for me/ since 10
o’clock / in the morning.
(a) Neetu have been (b) in the morning
(c) since 10 o’clock (d) waiting for me
SSC CGL (Tier-I) 14/07/2023 (Shift-I)

Ans. (a) : IR a9 H "Neetu have been" % TIH W

Neetu has been T YA 8RN Hifh aTFT H Subject

"Neetu" singular HREE Singular verb "has been" bl

ST g

Correct Sentence—

Neetu has been waiting For me since 10 O’ clock in the

morning.

5. The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

She always / invite me / to / dinner.
(a) to (b) invite me
(c) She always (d) dinner
SSC CGL (Tier-I) 17/07/2023 (Shift-II)

Ans. (b) : SR a9 | invite me & TH R "invites

me" T T BT Fifeh T subject "she" singular%\

37d: singular verb 'invites' 1 ST B

Correct Sentence—

She always invites me to dinner.

Note— Present Indefinite tense § verb @I singular A

& faT 39% | ”s/es"\—rﬁga %I

SSC CGL (Tier-I) 18/04/2022 Shift-I
Ans. (d) : SWE a9 | "are striking" F EH W "is
striking” 1 AN B FfG A F Subject "The
contrast" singular%\ 37d: Singular verb "is" &I TN B
Correct Sentence —
The contrast between Britain and other countries of
Europe is striking.
Note— 1@ gt s | Subject F ®7 4 "group of
words" 1 ST & e § T preposition * ugd
g words ﬁé’faﬁawg@ Subject THT T 21 37

™ F EIGUIN & verb singular 3T plural ERED) il
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7. The following sentence has been divided into
parts. One of them may contain an error.

Select the part that contains the error from the

given options. If you don't find any error, mark

‘No error’ as your answer.

Every Saturday, / the workers gets / their

weekly wages.

(a) the workers gets (b) Every Saturday

(c) No error (d) their weekly wages
SSC CGL (Tier-I) 18/04/2022 Shift-1

Ans. (a) : YT a9 ¥ "workers gets" % WH W

"workers get" bl ST I Hifh ST H Subject "The

workers" plural 2 37: Plural Verb "get" T AN M|

Correct Sentence—

Every Saturday, the workers get their weekly wages.

8. The following sentence has been divided into
parts. One of them may contain an error. Select
the part that contains the error from the given
options. If you don’t find any error, mark ‘No
error’ as your answer.

We ordered a Pizza/ which are one of/ my

favourite foods.

(a) No error (b) We ordered a Pizza

(c) my favourite foods (d) which are one of
SSC CGL (Tier-I) 13/04/2022 Shift-111

Ans. (d) : IR aFT | "are” F TIF W "is" H TN

BT =ifh Relative pronoun "Which" T ST 3194 Stk

Ted ¥I5 noun "a pizza" F AT gIM R S TH

Singular Noun @ 37 Singular verb "is" &1 ST I

Correct Sentence—

We ordered a Pizza which is one of my favourite foods.

9. Identify the segment in the sentence which
contains a grammatical error.

Neither Sam nor I are interested in attending
the meeting.
(a) are interested (b) in attending
(c) Neither SamnorI  (d) the meeting
SSC CGL (Tier-1I) 16/11/2020 (3 pm - 5 pm)

Ans. (a) : SYIH a9 ¥ ‘are' & WM W 'am' H T4

@TIT, FHiifs s& o subject — Neither Nor, either

..... or ¥ 71@ g @ verb F AN a& AT subject &

STER F T

Correct sentence- Neither Sam nor I am interested in

attending the meeting.

10. Identify the segment in the sentence which
contains a grammatical error.

The venue for the wedding have not yet been

finalised

(a) been finalised (b) have not yet

(¢) The venue (d) for the wedding
SSC CGL (Tier-II) 16/11/2020 (3 pm - S pm)

Ans. (b) : SRIG I | subject 'the venue' singular

form %I & 37 verb off singular Jqh gnftl o7 have'

& T W 'has' F FANT &

Correct sentence- The venue for the wedding has not
yet been finalised.

11.  In the following, some part of the sentence may

have errors. Find out which part of the
sentence has an error and select the
appropriate option. If a sentence is free from
error, select No Error.

Modern medicines has scored significant
victories (1)/ against both infection and
trauma- (2)/ the major causes of ill health and
death. (3)/ No error (4)

(c) 3 (d) 4

(a) 1 (b) 2
SSC CGL (Phase-II) 17/02/2018
Ans.(a)mwﬁhas%wmhwe?ﬂm
g1 F=if% ‘Modern medicines’ ‘plural subject 21 o
plural Auxiliary verb have' bl AT 3qg<h Gl
Correct sentence—
Modern medicines have scored significant victories

against both infection and trauma the major causes of ill
health and death.
12. In the sentence identify the segment which

contains the grammatical error.

Every employee of the company were given a

two bedroom flat as Diwali bonus.

(a) atwo bedroom flat (b) as Diwali bonus

(c) Every employee (d) were given

SSC CGL (Tier-I) — 06/06/2019 (Shift-I)

Ans. (d) : SRE a9 § Every employee of the
company ¥ Every employee Singular Noun % ®7 4
ERN %, 3F: were & T T was I 15I'€ﬁ"TT'aﬁ”"ITI

|Every + Singular noun + Singular Verb|

Correct Sentence :
Every employee of the company was given a two
bedroom flat as Diwali bonus.
13.  In the sentence identify segment which contains
the grammatical error.
Each of the girls have given an impressive
dance performance.
(a) have given
(c) animpressive
(d) dance performance
SSC CGL (Tier-I) — 07/06/2019 (Shift-III)
Ans. (a) SWE aF § plural verb 'have given' & WA
W singular verb 'has given' &l AT 39gh B =i
Distributive Pronouns Each of/Either of/Neither of &%
& Plural Noun/Pronoun T S&1T 81l 81 T auxiliary
verb singular e 21

Each of / Neither of + Plural subject + Singular Verb|

(b) Each of the girls

Correct Sentence
Each of the girls has given an impressive dance

performance.

14. In the sentence identify the segment which
contains the grammatical error.
The Doon Valley with all its lights look
beautiful at night from the top of the mountain.
(a) look beautiful (b) from the top
(c) atnight (d) with all its lights
SSC CGL (Tier-I) — 07/06/2019 (Shift-II)
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Ans. (a) I a9 # 'The Doon Valley' T Singular
Subject %\, 3fd: 9199 Present Indefinite Tense H Eﬁ E3|
Toe 9 7= foram & 39T T sles \—rﬁW plural verb 'look'
&l singular verb 'looks' &I ST &M

Correct Sentence

The Doon Valley with all its lights looks beautiful at
night from the top of the mountain.

15. In the sentence identify the segment which
contains the grammatical error.

The match is about to begin since the captain
as well as the team are on the field.
(a) are on the field
(b) The match is about to begin
(c) since the captain
(d) as well as the team
SSC CGL (Tier-I) — 10/06/2019 (Shift-II)
Ans. (a) IRI® AT | plural verb 'are' % WM T is
TN B39GB i S & Subject (noun or
pronoun) as well as, like, with, besides, together with,
no less than 37f& & S & T verb 97 subject % AR
singular 3T plural Ih e 2|
Correct Sentence
The match is about to begin since the captain as well as
the team is on the field.
16. In the sentence identify the segment which
contains the grammatical error.
Cows are amongst the gentlest of animals; none
shows more passionate tenderness towards
their young.
(a) Cows are amongst (b) towards their young
(c) none shows more (d) the gentlest of animals
SSC CGL (Tier-I) — 13/06/2019 (Shift-I)
Ans. (c) S a9 | singular verb 'shows' & ST
plural verb 'show' &l T gRT | i None & a1g 3T
et verb, singular & AT plural I8 3§ @ W AR
A ¢ F None 9 THR F Subject & 3 g gam
2 Singular Subject % @+ W Singular verb @9 plural
subject F g W plural verb T T B R W
None, animals (plural subject) ¥ forr T g 21 I
3T aTelt verb off plural form # |

Correct Sentence
Cows are amongst the gentlest of animals; none show
more passionate tenderness towards their young.
17. In the sentence identify the segment which

contains the grammatical error.

The cost of fruits and vegetables have risen

abnormally this month.

(a) have risen (b) The cost of

(c) this month (d) abnormally

SSC CGL (Tier-I) — 13/06/2019 (Shift-I)

Ans. (a) STRIH a9 H have I S8 has &1 4T BT
FHiifh Waﬁﬂ%subject of ¥ ﬂi g8 @, @ M A
verb of ¥Th  subject AU singular AT
plural 81 9f% a@ # of ¥ 98 The cost & AT
g 81 S 5 singular subject 21 3 319 AT verb
3?'33 3TER singular%ﬁ"ﬁl 37d: has T ST BTN

Correct sentence -
The cost of fruits and vegetables has risen abnormally
this month.

18.

In the sentence identify the segment which
contains the grammatical error.
Friction reduce the efficiency of machines so
their value also gets reduced.
(a) Friction reduce
(b) also gets reduced.
(c) the efficiency of machines
(d) so their value

SSC CGL (Tier-I) — 19/06/2019 (Shift-11I)
Ans. (a) : I a9d # Friction reduce & M W
Friction reduces &I 3T 3qh @TIT, Fiifh friction
singular uncountable noun 2 FEe™ Verb Singular
Hg<h gnft 31 reduce (plural verb) % WM W 'reduces’
(Singular verb) =T ST ST B
Correct sentence -
Friction reduces the efficiency of machines so their
value also gets reduced.
19.

In the sentence identify the segment which
contains the grammatical error.
I am sure that neither Juhi nor Jaya are
responsible for breaking the vase.
(a) neither Juhi nor Jaya (b) are responsible
(c) for breaking the vase (d) I am sure that

SSC CGL (Tier-I) — 19/06/2019 (Shift-11I)

Ans. (b) : SRIH a1 | are responsible F WH T is
responsible T T —EﬁT[T, Fifh  neither------- nor,
either--------- or & TE H 3T aTell verb nor, T4 or %
T &< 31T noun/pronoun ED IR Tgh et 21 o7
Wﬁm%ﬁlaya%wqﬁareﬂﬁm
is 1 JAMT g

Correct sentence -

I am sure that neither Juhi nor Jaya is responsible for

breaking the vase.

20.

In the sentence identify the segment which
contains the grammatical error.
Raja Ravi Varma was one of the first artist
who tried to create a style that was both
modern and traditional.
(a) Raja Ravi Varma was
(b) both modern and traditional
(c) to create a style that was
(d) one of the first artist

SSC CGL (Tier-I) — 12/06/2019 (Shift-I)

Ans. (d) SRI® a9 § artist S S8 artists H ST
BT % one of H YA B W 3G o€ 3 aTell

Subject, plural 94T Verb, singular ikl %I

|One of the+ Plural noun + Singular Verb|

Correct Sentence-
Raja Ravi Varma was one of the first artists who tried to
create a style that was both modern and traditional.

YCT



21. In the sentence identify the segment which
contains the grammatical error.

There is many modes of travel to go to Agra
but I prefer road travel.

(a) to go to (b) prefer road travel

(c) Agrabutl (d) There is many modes

SSC CGL (Tier-I) — 12/06/2019 (Shift-11I)
Ans. (d) : IR f&F T a9 § Many modes of travel
subject T ™™ HT T@T ¢ S f Plural subject 8, 3Ta:
Plural verb are T ST gHT|
Correct Sentence-
There are many modes of travel to go to Agra but |
prefer road travel.
22. In the Sentence identify the segment which

contains the grammatical error.

Ten kilometres are a long distance to cover on
foot for a child.

(a) Ten kilometres are  (b) for a child
(c) to cover on foot (d) along distance
SSC CGL (Tier-I) — 11/06/2019 (Shift-I)

Ans. (a) : YU a9 B Ten kilometres are & TIH W
Ten kilometres is T ST 3Ugh m, FIifH cordinal
adjective (one, two ....... ten) % a1 kilometres 3T T
29 ¥ TE certain distance denote FHTT % aAar 314% g
verb FHRM singular form & Th Tl 2
Correct Sentence-

Ten kilometres is a long distance to cover on foot for a
child.

23.

In the sentence identify the segment which
contains the grammatical error.
The child along with his parents were waiting
for the programme to begin.
(a) The child
(b) along with his parents
(c) programme to begin
(d) were waiting for the

SSC CGL (Tier-I) — 11/06/2019 (Shift-1II)
Ans. (d) : I AT B were waiting for the % N
W was waiting for the T JANT ITH BT, Fifch
fEt Sentence ¥ & Subject (noun/pronoun) as well as,
with, together with, along with g S[eT g @ verb gHIN
% 98a Subject (noun/pronoun) % FTER AR
21 S % e ¥ W 2 the child (Singular noun) %
IR & =T 'was' (Singular Verb) &1 ST B
Correct Sentence-

The child along with his parents was waiting for the
programme to begin.

24.

In the sentence identify the segment which
contains the grammatical error.
Most disputes can be solved amicably unless
one are not rigid.
(a) unless one are
(b) Most disputes
(c) notrigid
(d) can be solved amicably
SSC CGL (Tier-1)-10/06/2019 (Shift-I)

26.

Ans. (¢) I a9 H not rigid % WH W rigid 39
g1 Fifh subordinate clause # unless Tqh g3 g s
fh negative sense T 21 N TH clause H & negative
word I ST & BT 7

Correct sentence-

Most disputes can be solved amicably unless one are
rigid.
25.

In the sentence identify the segment which
contains the grammatical error.

Cyclone ldai is regarded as one of the worst
tropical cyclone on record to affect Africa and
the Southern Hemisphere as a whole.
(a) Cyclone Idai is regarded
(b) the worst tropical cyclone
(c) to affect Africa
(d) as a whole
SSC CGL (Tier-I) — 06/06/2019 (Shift-I)

Ans. (b) : I a9 8 One of the % 518 Plural Noun
F TN AT 3T 'Cyclone' F WM W 'Cyclones' &1
ST B

|One of + Plural noun + Singular verb|

Correct Sentence-
Cyclone ldai is regarded as one of the worst tropical
cyclones on record to affect Africa and the Southern
Hemisphere as a whole.
Parts of the following sentence have been
underlined and given as options. Select the
option that contains an error.
The Dutta company has not being making new
school bags since the lockdown commenced.
(a) commenced (b) has not
(c) being (d) since

SSC CGL (Tier-I) 19/07/2023 (Shift-1V)

Ans. (¢) : SR o § ‘being' % WM W 'been' H
ST BT | ST e # 'since + time' % YA § WE @
f3% a1 Present Perfect Continuous tense § 2 | 31N g&H
lhas/have + been + v, + ing| I TN BT 71

Correct Sentence—

The Dutta company has not been making new school

bags since the lockdown commenced.

27.

The following sentence has been split into four

segments. Identify the segment that contains a

grammatical error.

Binay said that / he is coming / from / his

village, Jaygarh.

(a) from (b) his village, Jaygarh

(c) heis coming (d) Binary said that
SSC CGL (Tier-I) 21/07/2023 (Shift-II)

Ans. (¢) : SR 9 H "he is coming" F W W "he
was coming" <l SENT 81T i a1 Past Continuous
Tense & Indirect Narration & |

Note : Sid@ Reporting verb (Indirect speech ) Past
tense H @ T Reported speech 4 Past tense 2t 21
Correct Sentence—

Binay said that he was coming from his village,
Jaygarh.
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28. The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

The doctor came / after the patient / had / pass
away.

(a) after the patient (b) pass away

(c) The doctor came (d) had

SSC CGL (Tier-I) 25/07/2023 (Shift-1V)

Ans. (b) : ST a9 ¥ "Pass away" % WH W™
"Passed away" <l TENT BN i a9 H 'come! (V2)
% JAT ¥ WF 8 f 9 Past Perfect tense § @ 37:
had + V* (Passed) &I T FEECH] Rl

Correct Sentence—

The doctor came after the patient had Passed away.

29. The following sentence has been divided into
parts. One of them may contain an error.
Select the part that contains the error from the
given options. If you don’t find any error, mark
‘No error’ as your answer.
My students / had expect / guidance from my
end.
(a) had expect
(b) My students
(c) guidance from my end
(d) No error

SSC CGL (Tier-I) 20/07/2023 (Shift-I)

Ans. (a) : SR a9 § "had expect" % WM W "had
expected"” H JATT g Fifh I § 'had' & AN §
Wy g fF 9 Past perfect tense (S+had+V® + othar
words) & g 37 Had + V° & Y4 39 81|
Correct Sentence—

My students / had expected / guidance from my end.

30.

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.
I play / cricket in / my childhood / with my
sister.
(a) Play (b) With my sister
(c) Cricket in (d) My childhood

SSC CGL (Tier-I) 24/07/2023 (Shift-III)
Ans. (a) : ST T | 'Play’ F WH T Played T
T I Fifh AT % 91 % STER (My childhood &
AT B4 @) 5 Past Indefinite tense # 21 37 V2
(Played) T ST &I
Correct Sentence—
I played cricket in my childhood with my sister.

31.

The following sentence has been split into

segments. Identify the segment that contains a

grammatical error.

My guide / was blind / but he bring / me home

safely.

(a) but he bring (b) My guide

(c) was blind (d) me home safely
SSC CGL (Tier-I) 21/04/2022 Shift-III

Ans. (a) : SRS a9 § "but he bring" F WM W "but
he brought" & JART BFT Fiifh A H was & FaT ¥ W
% & first clause past T % 4T Subordinate clause (if]
clause) 9 Past & BT | 31 Verb, & SART &I

Correct sentence—
My guide was blind but he brought me home safely.
32. The following sentence has been split into four

segments. Identify the segment that contains a

grammatical error.

Will you / care for / a cup of / hot coffee?

(a) acup of (b) care for

(c) Will you (d) hot coffee

SSC CGL (Tier-I) 20/04/2022 Shift-I11

Ans. (¢) : SR a9 8 "will' % WM W "would &
YA g i formal sense H "invitation/proposal"” B
fa would T F=TT &rT 21

Correct sentence—

Would you care for a cup of hot coffee.

33. The following sentence has been divided into
parts. One of them may contain an error. Select
the part that contains the error from the given
options. If you don’t find any error, mark ‘No
error’ as your answer.

Did you baked / the chocolate cake / yourself

this time?

(a) yourself this time (b) No error

(c) Did you baked (d) the chocolate cake
SSC CGL (Tier-I) 11/04/2022 Shift-11

Ans. (c) : STUH a9 ¥ did you baked % TF W did

you bake T S&NT 81T Fif% do/does/did F o verb i

first form (V1) g gt 21

Correct sentence—

Did you bake the chocolate cake yourself this time?

34. The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

He allowed / his son to drive / but he warn him/
of the danger.
(a) his son to drive (b) of the danger
(c) but he warn him (d) He allowed
SSC CGL (Tier-I) 11/04/2022 Shift-11

Ans. (¢) : IR a9 | "but he warn him" % M T

"but he warned him" T SAFT g1 Fifh AT HI first

clause § allowed (v,) & YT § WY 2 f5 == "past

tense" § ¢ 3T: & clause 9 past ¥ ¥ M|

Correct sentence—

He allowed his son to drive but he warned him of the

danger.

35.

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.
Did you / recall to meet / her at the party / last
night?
(a) last night (b) Do you
(c) recall to meet (d) her at the party

SSC CGL (Tier-I) 11/04/2022 Shift-11

9
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Ans. (¢) : IS a9 § "recall to meet" & M W
"recall meeting" I YA BN i recall & WY
Gerund (V,+ing) form ¥ 2T 8, infinitive (to + V1)
EAEEE

Correct sentence—

Did you recall meeting her at the party last night.

36.

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

you should / have respond / to my query /
sooner.

(a) to my query (b) sooner
(c) have respond (d) you should
SSC CGL (Tier-I) 13/04/2022 Shift-11

Ans. (¢) : SR a9 § "have respond" F W W
"have responded" bl ST 81T 16 should have & 1§
(V?) &0 ST gl 21
Correct sentence—
you should have responded to my query sooner.
37.

The following sentence has been divided into
parts. One of them may contain a grammatical
error. Select the part that contains the error
from the given options. If you don’t find any
error, mark ‘No error’ as your answer.
If the economy fails / this year it reflect badly /
on the government.
(a) on the government
(b) this year it reflect badly
(¢) No error
(d) If the economy fails

SSC CGL (Tier-I) 11/04/2022 Shift-1
Ans. (b) : ST a5 § "This year it reflect badly" B
T W "This year it reflects badly" T JaTT g =ifh
drF T Subject 'It' singular 2 or: singular verb 's/es'
"reflects” ST SENT BH|

Note : Verb &l singularEHT}i & form 390 s/es \?ﬁg ad %
#N Noun %l Plural 39 & fom 39T s/es Gﬁg =
Sl

Correct sentence—

If the economy fails this year it reflects badly on the
government.

38.

In the sentence identify the segment which

contains the grammatical error.

Torrential rains and winds of upto 170 km per

hour swept away roads, homes and bridges and

knocking down power and communication

lines.

(a) homes and bridges (b) knocking down

(c) winds of upto (d) swept away roads
SSC CGL (Tier-I) — 04/06/2019 (Shift-11I)

Ans. (b) : SR a= | 'knocking down' F WH |

'knocked down' T YT 3fe 21 S A # simple

past tense 1 ERID] g3 2, I 'knocking' F WH T

'knocked' ST JANT 3fEd BTN

Correct Sentence-

Torrential rains and wind of upto 170 km per hour
swept away roads, homes and bridges and knocked
down power and communication lines.

39.

The following sentence has been divided into parts.
One of them contains an error. Select the part that
contains the error from the given options.
The Committee agreed/that small businesses/
has been adversely affected/ by COVID-19.
(a) has been adversely affected
(b) the Committee agreed
(c) by COVID-19
(d) that small businesses

SSC CGL (Tier-I) —24/08/2021 (Shift-I)
Ans. (a) : IR a9 H has been adversely affected %
WM W have been adversely affected bl T g
Fifh aFI H subject, small businesses (plural) 2
FEfAT verb 41 plural (have) ST Gl
Correct Sentence -
The Committee agreed that small businesses have been
adversely affected by COVID-19.
40.

The following sentence has been divided into
parts. One of them contains an error. Select the
part that contains the error from the given
options.
it have been only/through writing/that men
have been able/to spread their ideas to
mankind.
(a) that men have been able
(b) to spread their ideas to mankind
(c) it have been only
(d) through writing

SSC CGL (Tier-I) -16/08/2021 (Shift-I)
Ans. (¢) : Y a9 § It have been only % WM W It
has been only & Y31 &M &6 Subject ‘It (Singular
Pronoun) ¥ qg Singular verb (has been) 1 T B 2
Correct Sentence -
It has been only through writing that men has been able
to spread their ideas to mankind.
41.  The following sentence has been divided into parts.
One of them contains an error. Select the part that
contains the error from the given options.

Ranbir could not went/ to the award
ceremony/as he was busy/shooting/for a film/in
Maldives.

(a) Ranbir could not went

(b) for a film

(c) to the award ceremony

(d) as he was busy

SSC CGL (Tier-I) —20/08/2021 (Shift-I)

Ans. (a) : 3R 999 H Ranbir could not went & T W
Ranbir could not go &1 I 2T &6 Modal (could) &
& 3T AT verb 319 T &7 (V! form) ¥ 3760 21
Correct Sentence -

Ranbir could not go to the award ceremony as he was
busy shooting for a film in Maldives.

10
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42. The following sentence has been divided into
parts. One of them may contain an error. Select
the part that contains the error from the given
options. If there is no error, select 'No error'.
Modern science have/broken many myths/
about our food and diet.

(a) No error

(b) broken many myths

(c) about our food and diet

(d) Modern science have

SSC CGL (Tier-I) —20/08/2021 (Shift-I)
Ans. (d) : IR 9 § Modern science have % T
W Modern science has & YA & Fif T H
subject, 'Modern science' singular 2 T verb ot
singular 'has' 3T |
Correct Sentence -

Modern science has broken many myths about our food
and diet.

43.

Identify the segment in the sentence which
contains a grammatical error.
The tired and vexed travellers waiting at the
airport for a long time.
(a) vexed travellers (b) The tired and
(c) waiting at the airport (d) for a long time

SSC CGL (Tier-II) 16/11/2020 (3 pm - 5 pm)
Ans. (¢) : IRIT arT | 'waiting' % M W 'have been
waiting' T TN 1M Hif for a long time' & WA ¥
e g 5 am present perfect continuous tense # 2l
31d: verb (has/have + been + verb+ing) @1 ST B
Correct sentence- The tired and vexed travellers have
been waiting at the airport for a long time.
44,

Identify the segment in the sentence which
contains a grammatical error.
Laws and rules are made to safeguarding our
rights and protect us.
(a) are made to
(b) safeguarding our rights
(c) Laws and rules
(d) and protect us

SSC CGL (Tier-1I) 16/11/2020 (3 pm - 5 pm)
Ans. (b) : 3Ih a9 H infinitive (to+Vy) oI T
incorrect g3 2l o safeguarding' F WE W 'to
safeguard’ T SENT NI &% Infinitive H to + verb,
1 JANT B 21
Correct sentence- Laws and rules are made to
safeguard our rights and protect us.

45.

In the sentence identify the segment which
contains the grammatical error.
She forgot lock the door when she went out in a
hurry.
(a) inahurry (b) She forgot lock
(c) the door when (d) she went out

SSC CGL (Tier-I) — 07/06/2019 (Shift-I)

Ans. (b) IRIG qT h Option (b) # forgot F WH W
forgot to T AN 39Yh BN FHifH & a § & verb
(forgot, Lock) Ur9-uTd Iqh g @ e At verb @
noun form (Infinitive (to + verb;) I T FA 213
Lock & &<t to T ST gHM|

Correct sentence -

She forgot to lock the door when she went out in a
hurry.
46.

Identify the segment in the sentence which
contains a grammatical error.

I didn't knew you had gone to Goa for a
vacation.

(a) you had gone (b) to Goa
(c) 1didn't knew (d) for a vacation
SSC CGL (Tier-II) 16/11/2020 (3 pm - 5 pm)
Ans. (¢) : ST a9 d | 'did' TH ‘auxiliary verb' I
@ use 8 2, 5@ 1 'did auxiliaxy verb' #1 & TIH
2t 2 9 main verb 1" form # & 81 SR a9
past indefinite tense I negetive sentence 2 fogen
structure f= a1 8 - (did not + verby)

Correct sentence- I didn't know you had gone to Goa
for a vacation.

47.

In the following, some part of the sentence may
have errors. Find out which part of the
sentence has an error and select the
appropriate option. If a sentence is free from
error, select No Error.
This will explains the decision taken (1)/to
impose a blockade on the country in (2)/ the
midst of a crisis. (3)/ No error. (4)
(a) 1 (b) 2
(c) 3 (d) 4

SSC CGL (Phase-II) 17/02/2018
Ans. (a) I a9 Simple future Tense 7 2 99
will & &€ verb &I Ist form T3 @Tﬂ é, 31d: 'explains'
% M T ‘explain’ T AT AT
'This will explain the decision taken to impose a
blockade on the country in the midst of a crisis.

48.

In the following, some part of the sentence may
have errors. Find out which part of the
sentence has an error and select the
appropriate option. If a sentence is free from
error, select No Error.
As several studies shows over (1)/ the years, the
annual data is useful in (2)/ reviewing trends of
extreme events. (3)/ No error.
(a) 1 () 2
(c) 3 (d) 4

SSC CGL (Phase-II) 17/02/2018
Ans. (a) SR T Subject 'several studies' plural g
3 THH Y Tgh Verb 'show' (ST s/es) ft plural
Y &M i sentence, simple present ¥ |
Correct sentence-
As several studies show over the years, the annual data
is useful in reviewing trends of extreme events.
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49. In the following, some part of the sentence may

have errors. Find out which part of the
sentence has an error and select the
appropriate option. If a sentence is free from
error, select No Error.

Service providers cannot stand in the way of a
(1)/ consumer's access to content, it should

have being provided (2)/ without any
hindrance. (3)/ No error. (4)

(@) 1 (b) 2

(c) 3 (d) 4

SSC CGL (Phase-II) 17/02/2018
Ans. (b) & 7@ g & Part (2) # 'being' F WM T©
‘been’ S FANT BT FAfF AT passive sense H & AT
Passive voice M T 'should have been' as a auxiliary
verb-use f3a1 ST 21

Correct sentence-
'Consumer's access to content. It should have been

52. In the sentence identify the segment which
contains the grammatical error.

Due to the cyclone Idai vast areas of land have
been  flooded, roads destroyed and
communications disrupting in Zimbabwe and
Mosambique.

(a) wvast areas of land have been flooded

(b) roads destroyed

(c) Due to the cyclone Idai

(d) and communications disrupting

SSC CGL (Tier-I) — 04/06/2019 (Shift-II)
Ans. (d) ITH I | Tqh verb Disrupting F YH T
Disrupted 1 T BN i S & Clauses and g
gl 2, d@ 2T Clause T & Tense § a1 =TI
<feh destroyed past form H g
Communications disrupting ¥ Past form & &M

roads

Correct Sentence-

provided without any hindrance.
50.

In the following, some part of the sentence may
have errors. Find out which part of the
sentence has an error and select the
appropriate option. If a sentence is free from
error, select No Error.

Many firms fail because when they begin
(1)/exporting, they have not research the (2)/

target Markets or have not planned
enough.(3)/No error(4)

(a 1 b 2

(c) 3 (d 4

SSC CGL (Phase-II) 17/02/2018
Ans. (b) ST a9 § have T T4 as an auxiliary g3
2, of: 3% a1 MW Al verb Il form ¥ &nfi em:
research % ¥ W researched &1 ST &M
Correct sentence-
Many firms fail because when they begin exporting,
they have not researched the target market or have not
planned enough.

51.

In the following, some part of the sentence may
have errors. Find out which part of the
sentence has an error and select the
appropriate option. If a sentence is free from
error, select No Error.
As with people, some monkeys are lazy, (1)/like
those who sleep all day in the zoo, (2)/and some
were industrious. (3)/ No error (4)
(a) 1 (b) 2
(c) 3 (d) 4

SSC CGL (Phase-II) 17/02/2018
Ans. (¢) I 919 & Main clause present tense 7 2
3 31@3 e 3 el clause 9t present tense T & gl
3’8‘%\"'{ were & I T 'are' H JIMT fﬁTITI
Correct sentence-

As with people, some monkeys are lazy, like those who
sleep all day in the zoo, and some are industrious.

Due to the cyclone Idai vast areas of land have been
flooded, roads destroyed and communications disrupted
in Zimbabwe and Mosambique.

53.

In the sentence identify the segment which
contains the grammatical error.
Lodi Colony in Delhi is very different from
other places in the city that is crowded and
noisy.
(a) 1is very different
(b) from other places
(c) in the city
(d) that is crowded and noisy

SSC CGL (Tier-I) — 07/06/2019 (Shift-I)
Ans. (d) I a9 ¥ 'that is crowded and noisy' Ed
M W 'that are crowded and noisy' & ¥amT 3fed 2
<fh 39 phrase 1 subject 'other places' Plural g, o
relative pronoun 'that’ & TvE singular verb 'is' F T
W plural verb 'are’ &1 ST 3 &M

Correct Sentence-
Lodi Colony in Delhi is very different from other places
in the city that are crowded and noisy.

54.

In the sentences identity the segment which
contains the grammatical error.
You may left the class when you have
completed the test.
(a) You may left (b) completed the best
(c) the class (d) when you have

SSC CGL (Tier-I) — 13/06/2019 (Shift-II)
Ans. (a) : IR a9 § left & WM W leave H T
3UTh g1 FifE modal 'may’ % W Verb &l first
form 1 JANT T &1 31 left % &M T leave (V) &1
T A
Correct sentence-

You may leave the class when you have completed the
test.
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55. The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.
She persisted / to doing / what she wanted /
despite opposition.
(a) what she wanted (b) despite opposition
(c) to doing (d) She persisted

SSC CGL (Tier-I) 12/04/2022 Shift-11
Ans. (¢) : S a9 § "to doing" % WM W in doing
Eal H’?’T BT Fifh persist % 99 in preposition T AT
BT Bl

Note— Persist in doing something.

Correct sentence—

She persisted in doing what she wanted despite

opposition.

56. The following sentence has been split into
segments. One of them may contain an error.
Identify the segment that contains a
grammatical error. If you don't find any error,
mark 'No error' as your answer.

He was formerly/a doctor of/the corporate

hospital.

(a) a doctor of (b) No error

(c) He was formerly (d) the corporate hospital
SSC CGL (Tier-I) 19/04/2022 Shift-111

Ans. (a) : SR a9 8 "of" & T W "at" H FAT

g FifE at" preposition <l YA definite

Place/Location &l fe@M & forw fovar smr 21

Correct sentence—
He was formerly a doctor at the corporate hospital.
57. The following sentence has been divided into
parts. One of them contains an error, select the
part that contains the error from the given
options.
He conceded/ a very crucial / point at / his
opponent.
(a) avery crucial (b) point at
(c) his opponent (d) He conceded
SSC CGL (Tier-I) 21/04/2022 Shift-111
Ans. (b) : ST FFT | "point at" F ™F T "point to"
F AN BT FfF "point & T "to" preposition B
AT T (Acceptance) % sense # o S 81

Correct sentence—
He conceded a very crucial point to his opponent.

58.

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.
I was angry/on myself/for making/such a silly
mistake.
(a) such asilly mistake (b) on myself
(c) I was angry (d) for making

SSC CGL (Tier-I) 19/04/2022 Shift-11
Ans. (b) : SR e | "Angry on myself" F WA W
Angry with myself 1 S&NT BT &6 Angry & Y
with/at 3 at preposition bl T BT 81

Note— Angry with sb
Angry at 5th
Correct sentence—
I was angry with myself for making such a silly
mistake.

59.

The following sentence has been divided into
parts. One of them contains an error.
Select the part that contains the error form the
given options.
It has / been raining / since / two hours.
(a) It has (b) since
(c) been raining (d) two hours

SSC CGL (Tier-I) 18/04/2022 Shift-I
Ans. (b) : YU a9 H "since" & W W "for" H
TN g Sifh "for" S AN specific period of time
& faw S@fd Since &M T Point of time & IGLRERI
ST 21
Correct sentence—
It has been raining for two hours.

60.

The following sentence has been split into four
segments. Identify the segment that
contains a grammatical error.
As it has been raining heavily / since two hours,
/ the children are / at home.
(a) the children are
(b) since two hours,
(c) at home
(d) As it has been raining heavily

SSC CGL (Tier-I) 12/04/2022 Shift-II1
Ans. (b) : SR a9 H "Since" F WM W "for" H
TENT B i "for" 1 AN Period of time (Two
hour) Ed foT@ d9r since YT Point of time & form
fepam ST 21
Correct sentence—

As it has been raining heavily for two hours, the
children are at home.

61.

The following sentence has been split into four
segments. Identity the segment that contains a
grammatical error.
We have/not met/some of our friends/since six
months.
(a) not met
(b) We have
(c) since six months
(d) some of our friends

SSC CGL (Tier-I) 12/04/2022 Shift-I11
Ans. (¢) : YU a9 ¥ since & T W "for" H A
B iR for T AT period of time & fow foar
ST
Note :

Since — Point of time (9 'o' clock, 1 January)
For — Period of time (six years/five minutes)
Correct sentence—

We have not met some of our friends for six months.
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62. The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.
Your name/precedes
admission list.
(a) admission list
(c) in the

before mine/in the/

(b) Your name

(d) precedes before mine
SSC CGL (Tier-I) 11/04/2022 Shift-111

Ans. (d) : IS 9 § "Precedes before mine" &

M W "Precedes mine" T T 8N Fif Precedes &

19 before HN FATT Superfluous 21

Correct sentence—

Your name precedes mine in the admission list.

63.

Parts of the following sentence have been given
as options. One of them may contain an error.
Select the part that contains the error from the
given options. If you don't find any error, mark
'No error' as your answer.
Aid workers have delivered vast quantities of
food on the refugee camps.
(a) No error
(b) vast quantities of food
(c) on the refugee camps
(d) Aid workers have delivered

SSC MTS-05/07/2022 Shift-111
Ans. (¢) : IR a9 § "On the refugee camps"” %
WM W "to the refugee camps" HN SAN BT Fifeh
delivered & T "to" preposition T JANT BT 2
Note— Deliver something or Deliver something to
something/somebody.
Correct sentence—
Aid workers have delivered vast quantities of food to
the refugee camps.
64.

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.
Concern above rising pollution / led to the /
formulation of / various action plans.
(a) Concern above rising pollution
(b) formulation of
(c) led to the
(d) various action plans

SSC MTS-06/07/2022 Shift-11
Ans. (a) : S a9 H "concern above rising
pollution" % T W "concern about rising pollution" T
ST BT Hiif Concern & F1F "about" proposition bl
YA I 2
Correct sentence—
Concern about rising pollution led to the formulation of]
various action plans.

65.

Parts of the following sentence have been given
as options. One of them may contain an error.
Select the part that contains the error from the
given options. If you don't find any error,
mark 'No error' as your answer.

The reduced air pressure on airline flights can

lessen the amount of oxygen in passengers'

blood for twenty-five percent.

(a) The reduced air pressure on airline flights

(b) No error

(c¢) in passengers' blood for twenty-five percent

(d) can lessen the amount of oxygen

SSC MTS-05/07/2022 Shift-I

Ans. (¢) 3TN a9 H "for" % M W "to" H JAM
BN FifE Lessen & T "to" preposition 1 ST g
2l

Correct sentence—

The reduced air pressure on airline flights can lessen the
amount of oxygen in passengers' blood to twenty-five
percent.

66.

The following sentence has been divided into
parts. One of them may contain an error.
Select the part that contains the error from the
given options. If you don't find any error,
mark 'No error' as your answer.

I was at a party / with some off my / friends in

Mumbai.
(a) friends in Mumbai (b) with some off my
(c) No error (d) I was at a party

SSC MTS-12/07/2022 Shift-1
Ans. (b) : SR a1 H with some off my F ™H |V
"with some of my" I YA g Fifh possession Ell
fa@m & faw o proposition bl T BT B
Correct sentence—
I was at a party with some of my friends in Mumbai.
67.

The following sentence has been divided into
parts. One of them may contain an error. Select
the part that contains the error from the given
options. If you don't find any error, mark 'No
error' as your answer.
A probe has been ordered/ by the incident/ that
occurred at the celebrations.
(a) A probe has been ordered
(b) that occurred at the celebrations
(c) by the incident
(d) No error

SSC CHSL (Tier-I) —05/08/2021 (Shift-I)
Ans. (¢) : IRIG aT | by % WH T 'for' preposition
HT JAT M FHif% order & T fFH H (something)
ﬁa‘%ﬁ%ﬁﬂ'for’ﬁmmél

* Order for something.

* Order to somebody.

Correct Sentence -

A probe has been ordered for the incident that occurred
at the celebrations

68.

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

The sports day events/ will be conducted/ from
3:30 pm and 5:30 pm/ on Saturday.

14

YCT



(a) The sports day events

(b) from 3:30 pm and 5:30 pm

(c) on Saturday

(d) will be conducted

SSC CHSL (Tier-I) —05/08/2021 (Shift-I)

Ans.(b):mwﬁand%wmmww
EER BT FAifF from F 99 to ... , structure
1 S wEEEry e % e g g
Correct Sentence -
The sports day events will be conducted from 3:30 pm
to 5:30 pm on Saturday.

69.

The following sentence has been divided into
parts. One of them contains an error. Select the
part that contains the error from the given
options.
Several prominent film stars/have appeared on
television/on behalf of awareness/about hand
hygiene.
(a) on behalf of awareness
(b) about hand hygiene
(c) Several prominent film stars
(d) have appeared on television

SSC CGL (Tier-I) —23/08/2021 (Shift-I)
Ans. (a) : ST 9 # on behalf of (F TF F) &
M T for (% fIT) 1 =AM BN FHifeh A & 919 &
SIER 7% 3fud a7 I 7
Correct Sentence -

Several prominent film stars have appeared on
television for awareness about hand hygiene.

70.

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.
Won't you/please come/to help me/along this
heavy box ?
(a) to help me (b) won't you
(c) please come (d) along this heavy box
SSC CGL (Tier-I) —17/08/2021 (Shift-I)
Ans. (d) : WG =T | along this heavy box F M
W for this heavy box & TN g Fifs ‘& fow’ &
sense H 'for' preposition Th I 21
Correct Sentence -
Won't you please come to help me for this heavy box.
71. Identify the segment in the sentence which
contains a grammatical error.
I want you to complete this work by two days.
(a) this work (b) I want you
(c) by two days (d) to complete
SSC CGL (Tier-1I) 16/11/2020 (3 pm - 5 pm)
Ans. (¢) : SR a= | by two days' F WH W
'within two days' <l TN T |
'within two days' - 3T T Al & el
'by two days' - & f&T T
Correct sentence- I want you to complete this work
within two days.

72. Identify the segment in the sentence which

contains a grammatical error.

This jewellery box is made from silver and is

an antique piece.

(a) an antique piece (b) This jewellery box

(c) and is (d) is made from silver
SSC CGL (Tier-II) 16/11/2020 (3 pm - 5 pm)

Ans.(d):mmﬁ’from’ % WM T 'of & FAT

B, Fif 'from' F FAN TEEAS IRadd & fow 7

'of' &1 FANT sifeeh URad & o fhar S @1 e

T & T S G 8 @ 81 3 'of & wE
I BT

Correct sentence- This jewellery box is made of silver
and is an antique piece.
73. Identify the segment in the sentence which
contains a grammatical error:
Poor people have run down of food supplies
during the lockdown.
(a) Poor people have (b) during the lockdown
(c) food supplies (d) run down of
SSC CGL (Tier-1I) 16/11/2020 (3 pm - 5 pm)
Ans. (d) : Y6 a9 ¥ 'run down of % TH W 'run
out of T T A
run down of - H&J 98T
run out of - @ /& T
Correct sentence - Poor people have run out of food
supplies during the lockdown.
74.

In the following, some part of the sentence may
have errors. Find out which part of the
sentence has an error and select the
appropriate option. If a sentence is free from
error, select No Error.
He said that he thought off politics right when
(1)/he was studying Intermediate and that (2)/
he had no fear of politics. (3)/ No error. (4)
(@) 1 () 2
(c) 3 (d) 4

SSC CGL (Phase-II) 17/02/2018
Ans. (a) SR a9 H off & WM W about HI JAM
g Fifsh Thought % HF ‘about’ preposition & JATT
W 21 'off HT T |
Correct sentence
He said that he thought about politics right when.....

75.

In the following, some part of the sentence may

have errors. Find out which part of the
sentence has an error and select the
appropriate option. If a sentence is free from
error, select No Error.
While provisions on equality and non-
discrimination (1)/ would promote equal
opportunity, (2)/ in the process, reservation at
jobs should not be denied. (3)/ No error. (4)
(a 1 b 2
(c) 3 (d 4

SSC CGL (Phase-II) 17/02/2018
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Ans.(c)mmﬁat%wa?winﬂm'@ﬂ
FfE Reservation & a5 (at) T & afcH preposition
'in' T FAT FM

|Reservation in jobs—i SR | 33|T{?JUT|

Correct sentence-

While provisions on equality and non-discrimination
would promote equal opportunity in the process
reservation in jobs should not be denied.

79. In the sentence identify the segment which
contains the grammatical error.
Not complying by any of the laws can land you
into serious trouble.
(a) Notcomplying by (b) any of the laws
(c) into senous trouble (d) can land you

SSC CGL (Tier-I) — 12/06/2019 (Shift-I)

Ans. (a) SR g | "Complying by" F WH W
"Complying with" &1 FaT 39gh il

76.  In the following, some part of the sentence may
have errors. Find out which part of the
sentence has an error and select the
appropriate option. If a sentence is free from
error, select No Error.
There is a barrier among the egghead and (1)/
the hoipolloi and it would be lazy (2)/ idealism
to ignore it. (3)/ No error (4)
(@ 1 () 2
(c) 3 (d) 4

SSC CGL (Phase-II) 17/02/2018
Ans. (a) SWIH I H 'Among' & T T ‘between’
F WAN B FEhfe A asi H compare F U
‘betvgeen’ 3 q Y e axgeti & fTT Among FT ¥
2 71

Correct sentence-
There is a barrier between the egghead and....

77.

In the sentence identify the segment which

contains the grammatical error.

The Japanese artist Yoh Nagao was busy

splashing the well from colours.

(a) splashing the well (b) was busy

(c) from colours (d) The Japanese artist
SSC CGL (Tier-I) — 07/06/2019 (Shift-1I)

Ans. (¢) I a9 H from colours & TN W with

colours & JIMT 3qTh ﬁ“ﬂ, Fifeh splash F Y with

(preposition) 37T € 7 f from.

Correct sentence -

The Japanese artist Yoh Nagao was busy splashing the
well with colours.

78.

In the sentence identify the segment which

contains the grammatical error.

Although there are more than a hundred

known elements, they rarely occur at a pure

state.

(a) more than a hundred (b) they rarely occur

(c) ata pure state (d) Although there are
SSC CGL (Tier-I) — 13/06/2019 (Shift-1I)

Ans. (¢) : S a § occur & W correct

preposition 'in' g1 Occur at & JATT J=: particular

time AT place % "oy § % 1 Oceur in- 3 gfed g

7 el AT ST % sense H T 2

Ff% Verb "Comply- (e _HEN)’ & I gHIM
Preposition 'with' &1 ST Bl 2
Correct Sentence-

Not complying with any of the laws can land you into
serious trouble.

80.

In the sentence identify the segment which
contains the grammatical error.
My father dissuaded me to try for a job as he
wanted me to pursue higher studies.
(a) to try for a job
(b) to pursue higher studies
(c) as he wanted me
(d) My father dissuaded me

SSC CGL (Tier-I) — 11/06/2019 (Shift-II)
Ans.(a):mmﬁtotryforajob%wﬁﬂ
from trying for a job I T 39gh g, Hifh
dissuaded & 1Y from (preposition) 39Ih T & e
$9% @18 verb # 'ing' form qh et 21
dissuade somebody from doing something to persuade
somebody not to do something (U, T HH & forw
RSEEICINY
Correct Sentence-

My father dissuaded me from trying for a job as he
wanted me to persue higher studies.

81.

The following sentences has been splite into

four segments. Identify the segment that

contains a grammatical error.

No sooner did/the child start crying/then the

mother/hugged him.

(a) hugged him (b) No sooner did

(c) the child start crying (d) then the mother
SSC CGL (Tier-I) 11/04/2022 Shift-II1

Ans. (d) : YU a9 H "then the mother" % M W

"than the mother T ST g7 &if6 No sooner & Y

ZUIM 'than' T AT AT &, then 1 &l |

No sooner

Scarcely/hardly

Correct sentence—

No sooner did the child start crying than the mother
hugged him.

82. Identify the segment in the sentence which
Correct sentence - contains a grammatical error.
Although there are more than a hundred known You must be careful about what you say as you
elements, they rarely occur in a pure state. meet her.
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(a) meet her

(b) asyou

(c) about what you say

(d) You must be careful

SSC CGL (Tier-II) 16/11/2020 (3 pm - 5 pm)

Ans. (b) : I aF & 9 & FER 'as' F UH W
'when' & ST BT FHifh g TATT Wk o7
feFam ST 8 As - St
When - 59|
Correct sentence- You must be careful about what
you say when you meet her.
83. Identify the segment in the sentence which

contains a grammatical error.

We must plan how can we cope with the

present situation.

(a) We must plan (b) present situation

(c) how can we (d) cope with the

SSC CGL (Tier-1I) 16/11/2020 (3 pm - 5 pm)

Ans. (¢) : YU a9 | how can we & TIF T how
we can & FATT B i 'how' & FAT & as a
conjuction g3T 2AMasa question word. 3d: Th
o< Affermative Sentence S g
Correct sentence- We must plan how we can cope
with the present situation.
84.

In the following, some part of the sentence may

have errors. Find out which part of the
sentence has an error and select the
appropriate option. If a sentence is free from
error, select No Error.

The postman travelled by the cycle, often
wading through (1)/swamps of passed through
jungles (2)/ in order to reach the villages (3)/

No error (4)
(a) 1 (b) 2
(c) 3 (d) 4

SSC CGL (Phase-II) 17/02/2018
Ans. (b) W sentence H of & TM W and HT JAM
B I & noun AT clause H Trﬁ@'}laﬁ faT and &1
TR BT 2|

Correct sentence-
The postman travelled by the cycle, often wading
through swamps and passed through jungles in order to
reach the villages.
85. Identify the segment in the sentence which
contains a grammatical error.
Zoya won the first prize in the race unless she
stumbled and fell.
(a) Zoya won the first (b) prize in the race
(c) unless she (d) stumbled and fell
SSC CGL (Tier-1I) 16/11/2020 (3 pm - 5 pm)
Ans. (¢) : S 99T ¥ 'unless' & WM W 'inspite
of/despite T FAT BT 3HHT 27 “TUH TSR 5
BT 21 37 I A F 919 H IR Iugh 37 Al 7|
Correct sentence- Zoya won the first prize in the race
inspite of she stumbled and fell.

86. In the sentence identify the segment which

contains the grammatical error.
We had to decline several orders in case that the
production was held up due to labour strike.
(a) in case that
(b) due to labour strike
(c) the production was held up
(d) we had to decline
SSC CGL (Tier-I) — 04/06/2019 (Shift-I)

Ans. (a) : 3T a9 H 'In case that' & WM T
conjunction 'because' I W 3R g1 HifE
Conjunction 'because' bl TN HROT I (reason) &
fere fapan ST €1 S % e % o Sw o & g

Correct sentence -
We had to decline several orders because the production
was held up due to labour strike.
87. In the sentence identify the segment which

contains the grammatical error.

She lost a big order from a known showroom in

case of her own carelessness.

(a) She lost a big order

(b) her own carelessness

(c) from a known showroom

(d) in case of

SSC CGL (Tier-I) — 04/06/2019 (Shift-III)

Ans. (d) : STUE 99T T 'in case of (39 Rafa & f&%) &
M T conjunction 'because' (FIfH) 1 FANT 3 &1
Conjunction 'because' &1 ST HROT FaH & forg y&m
fepam ST 1 SHf At & o1 Bt e 7

Correct sentence :-

She lost a big order from a known showroom because

her own carelessness.

88. In the sentence identify the segment which

contains the grammatical error.

Cyclone ldai killed at least 157 people in

Zimbabwe and Mozambique although it tore

across Southern Africa.

(a) Although (b) It tore across

(c) Atleast 157 people (d) Cyclone ldai killed
SSC CGL (Tier-I) — 04/06/2019 (Shift-I)

Ans. (a) IWF I H Although F WH T Conjunction
'because/as (Fifeh/ TN fF) BT T = 2

Rule- Because is used before another part of speech to
give the reason for something.

Correct sentence :-

Cyclone ldai killed at least 157 people in Zimbabwe and
Mozambique because/as it tore across Southern Africa.

89.

In the sentence identify the segment which
contains the grammatical error.
She got two quick promotions in order that she
has good communication skills.
(a) two quick promotions
(b) in order that
(c) she has good communication skills
(d) She got
SSC CGL (Tier-I) — 04/06/2019 (Shift-II)
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Ans. (b) ST a9 H "In order that (F IRUTH &)
% M W because (Fifh) FN TN ITIH ST | Fiifh
reason T & sense § because T T Hd %'I

Correct Sentence :-
She got two quick promotions because she has good
communication skills.

90.

Parts of the following sentence have been given
as options. Select the option that contains an
error.
She was waiting for a opportunity to start her
own business.
(a) to start her
(b) own business
(c) for a opportunity
(d) She was waiting

SSC CGL (Tier-I) 21/07/2023 (Shift-1I)
Ans. (¢) : SIS a9 | "for a opportunity” F WH |
"for an opportunity" I SN B i Indefinite
article 'an' &7 ST singular countable Noun % 98 g
2 fos 3T Vowel sound ¥ 1 S&fs 'A' &1 TN
consonant sound ¥ RIS &M aTet noun ¥ TE BIAT 2|

Correct sentence—
She was waiting for an opportunity to start her own
business.

91.

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.
You should / see a oculist; / your eyes look /
worse today.
(a) worse today (b) see a oculist;
(c) your eyes look (d) You should

SSC CGL (Tier-I) 26/07/2023 (Shift-1I)

93. The following sentence has been divided into
three segments, A, B, C. One of them may
contain a grammatical error. Select the
segment that contains the error, from the given
options. If you don’t find any error, mark ‘No
error’ as your answer.

Aniket lives (A) / in the small apartment (B) / in
the suburbs (C).
(a) No error

() C

(b) B
(d A

SSC CGL (Tier-I) 18/07/2023 (Shift-III)
Ans. (b) : SRS a9 | In the small apartment F T
W in a small apartment 3T TN B it TRl W fRed
specific 3T particular apartment & a1d & g W@ oo
T9% U8 definite article "the' T J&NT Tt 21
Correct sentence—
Aniket lives in a small apartment in the suburbs.
94,

Identify the sentence that correctly uses the

indefinite article.

(a) She is a Indian artist married to a European
engineer.

(b) She is an Indian artist married to a European
engineer.

(c) She is a Indian artist married to an European
engineer.

(d) She is an Indian artist married to an European
engineer.

SSC CGL (Tier-I) 17/07/2023 (Shift-II)

Ans. (b) : SR fopedt § ¥ fasey (b) ¥ Indefinite

article 'an' &1 ¥a1T Correctly g3 21 el o fasped

% g AT 3RS 2

Correct sentence—

She is an Indian artist married to a European engineer.

Ans. (b) : YU T H "See a oculist” F LI W "see
an oculist" T JANT 8T i Indefinite article 'an' T
AN Vowel sound (Oculist) & Uge I 2|

Correct sentence—

You should see an oculist; your eyes look worse today.
92.

Select the grammatically correct sentence.
(a) It was the hectic day for Susan with a lot of
purchase and the couple of meetings.
(b) It was a hectic day for Susan with the lot of
purchase and a couple of meetings.
(c) It was a hectic day for Susan with the lot of
purchase and an couple of meetings.
(d) It was a hectic day for Susan with a lot of
purchase and a couple of meetings.
SSC CGL (Tier-I) 25/07/2023 (Shift-1V)
Ans. (d) : W fawedi § ¥ foped (d) "It was a
hectic day for Susan with a lot of purchase and a couple
of meeting" grammatically correct 2 o9 famedi #
article (a/an/the) T ST 3TYF T

Correct sentence—
It was a hectic day for Susan with a lot of purchase and
a couple of meetings.

95. The following sentence has been split into four

segments. Identify the segment that contains a
grammatical error.

The historians / are a great / asset to the / field

of academia.

(a) The historians (b) Are a great

(c) Field of academia  (d) Asset to the

SSC CGL (Tier-I) 24/07/2023 (Shift-11I)

Ans. () : SR a9 H "the Historians" & T W
Historians T YA &R Fif6 definite article 'the' &
T definite sense H a1 ST 2 iR =@t aed
Historians & Y31 General sense g3 % Ad: Sﬂ%
g article 'the' 1 JAT T A
Correct sentence—
Historians are a great asset to the field of academia.
96.

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.
This is /too grave sin/to be/pardoned.
(a) Thisis (b) too grave sin
(c) pardoned (d) to be

SSC CGL (Tier-I) 12/04/2022 Shift-II
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Ans. (b) : SR aF " "too grave sin" F WA WV
"too a grave sin" & FAT ENT FAifh AT H sin (Noun)
1 T4 Indefinite sense § g3 21 37: Indefinite article
'a' 1 TN I

Correct sentence—

This is too a grave sin to be pardoned.

97.

The following sentence has been divided into
parts. One of them may contain a grammatical
error. Select the part that contains the error
from the given options. If you don’t find any
error, mark ‘No error’ as your answer.
Antique diamond necklace / was stolen / from
the museum.
(a) was stolen
(b) No error
(c) from the museum
(d) Antique diamond necklace

SSC CGL (Tier-I) 12/04/2022 Shift-11
Ans. (d) : ERClCic R "Antique" % WH W "An
Antique" I SN B % Indefinite sense #
Indefinite article 'an' H1 ¥4 Vowel sound word % Tget

T 2

Correct sentence—

An antique diamond necklace was stolen from the

museum.

98. The following sentence has been into four
segments. Identify the segment that contains
grammatical error.

Athens was/most luminous/ of all city-states/
for ancient Greece.
(a) ofall city-states (b) of ancient Greece
(c) a most luminous (d) Athens was

SSC CGL (Tier-I) 13/04/2022 Shift-I11

Ans. (¢) : SR a9 ¥ "Most Luminous" & I T

"the most Luminous" & AT BT Hifh Superlative

degree "most" % T&d definite article "the" T ST &Il 8 |

Correct sentence—

Athens was the most luminous of all city-states for
ancient Greece.

99.

The following sentence has been divided into
parts. One of them may contain an error. Select
the part that contains the error the given
options. If you don't find any error, mark ' No
error' as your answer.
There is a very little time/for them to
prepare/for the show.
(a) for them to prepare
(b) for the show
(c) There is a very little time
(d) No error

SSC CGL (Tier-I) 13/04/2022 Shift-I
Ans. (¢) : YU a9 H There is a very little time %
WM W "There is very little time T AT &M A
"Time" Uncountable Noun & 3¥: 9% &l article 'a' T

AT T e § 1

Correct sentence—
There is very little time for them to prepare for the
show.

100. The following sentence has been divided into
parts. One of them may contain an error.
Select the part that contains the error from the
given options. If you don’t find any error, mark
‘No error’ as your answer.
It was / the very well-directed film / and we
enjoyed it.
(a) and we enjoyed it
(b) the very well-directed film
(c) No error
(d) It was
SSC CGL (Tier-I) 11/04/2022 Shift-I
Ans. (b) : SR 9 H "The very well directed film"
F WH W a very well directed film" T TN BT
I 'the' & FAM definite sense H S 'a' & FAT
Indefinite sense § fFam SmaT 81 W @ F film &
TAIT Indefinite sense & §3T d
Correct sentence—
It was a very well-directed film and we enjoyed it.
101.

The following sentence has been divided into
parts. One of them contains an error. Select the
part that contains the error the given options.
The sea has become/an cheap dumping ground/
for all kinds/of waste products.
(a) an cheap dumping ground
(b) for all kinds
(c) of waste products
(d) the sea has become

SSC CGL (Tier-I) —17/08/2021 (Shift-I)
Ans. (a) : YU 19 B 'an' & WF W 'a’ H TAN A
i 'cheap' I I=ARTT AT’ (s &af) ¥ & @I 2
31: 9% Tgd indefinite article 'a’ T JATT | S
an T YA TR & G ae % 9gd e 2

Correct Sentence -
The sea has become a cheap dumping ground for all

kind of waste products.

102. Identify the segment in the sentence which
contains a grammatical error.
There was enough evidence to convict him on
selling of fake medicines.
(a) There was enough evidence
(b) Fake medicines
(¢) to convict him
(d) on selling of
SSC CGL (Tier-1I) 16/11/2020 (3 pm - 5 pm)

Ans. (d) : ' S g | selling of % WM W 'the
selling of' =T T @"ﬂ,azﬁﬁ? 9 & Noun 'of & ﬂ@
ﬁ?‘ﬁ%ﬁNoun%%ﬁtheWWﬁﬁTél

Correct sentence- There was enough evidence to

convict him on the selling of fake medicines.
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103. Identify the segment in the sentence which
contains a grammatical error.
Although this is a narrowest street, many large
trucks can enter it.
(a) many large trucks  (b) can enter it
(c) Although this is (d) anarrowest street
SSC CGL (Tier-1I) 16/11/2020 (3 pm - 5 pm)
Ans. (d) : Y 99 H 'a narrowest' % TIF W 'The
narrowest' & AT @AM FHifh Superlative form
(narrowest) % T&d definite article 'the’ &1 &N 2T 21
Correct sentence- Although this is the narrowest
street, many large trucks can enter it.
104. Identify the segment in the sentence which
contains a grammatical error :
Do you mind lending me your book for a hour?
(a) lending me (b) Do you mind
(c) for a hour (d) your book
SSC CGL (Tier-II) 16/11/2020 (3 pm - 5 pm)
Ans. (¢) : I 919 ¥ 'a hour' % M W 'an hour'
SN BT | Fifeh "hour' (31R) TH vowel sounding word
% 3R mq—ifé article 'an’' W‘SPJ\T‘T'EﬁﬂT%I
Correct sentence- Do you mind lending me your book
for an hour?

105.

In the sentence identify the segment which

contains the grammatical error.

In the northern suburbs of Bengaluru, home to

the bulk of the information technology

industry, the water crisis is even worst.

(a) home to the bulk of

(b) the water crisis

(c) is even worst

(d) In the northern suburbs

SSC CGL (Tier-I) — 10/06/2019 (Shift-I)

Ans. (¢) 3T 19 F is even worst % M T is even

the worst & JIMT 39gh BT FifF sentense H faam

T "worst" Sifsh bad T superlative form g el

superlative word % T8t "The" &1 Ja1T a1 ST 21

Correct sentence :-

In the northern suburbs of Bengaluru, home to the bulk

of the information technology industry, the water crisis

is even the worst.

106. The following sentences has been split into four
segments. Identify the segment that contains a
grammatical error.

It can / get extreme cold / during / the winters.
(a) get extreme cold (b) itcan
(c) the winters (d) during

SSC CGL (Tier-I) 27/07/2023 (Shift-11I)

Ans. (a) : IS a9 H extreme (Adjective) & M

U extremely (Adverb) &1 AN B i cold

(Adjective) H  modifies FH F g extremely

(Adverb) T ST BT |

Correct sentence—
It can get extremely cold during the winters.

107. Identify the segment in the sentence which
contains a grammatical error. If there is no
eror, select 'No error'.

At one time birds and animals lived peaceful
together.

(a) peaceful together (b) birds and animals lived
(c) No error (d) At one time

SSC CGL (Tier-II) 08.08.2022 Shift-II

Ans. (a) : S a9 | Peaceful % M W peacefully
H FAT g i verb (lived) 1 Modify & & fog
adverb (peacefully) &1 ST Bl 2|

Correct sentence—

At one time birds and animals lived peacefully together.
108. Identify the segment that contains a

grammatical error.

A misunderstanding has crept between he and

his sister.

(a) and his sister (b) between he

(c) has crept (d) A misunderstanding

SSC CGL (Tier-II) 08.08.2022 Shift-II

Ans. (b) : 3T 9T § 'he' % M W 'him' H F4T
BN i preposition between % W& objective case
"him" ST AT BIaT 21 S he 1 T4 subjective case
F &9 ¥ g 2|

Correct sentence—
A misunderstanding has crept between him and his
sister.

109.

Identify the segment in the sentence which
contains a grammatical error. If there is no
error, select 'No error'.
If you are going downhill you can go much fast.
(a) No error
(b) If you are going downhill
(c) much fast
(d) you can go

SSC CGL (Tier-II) 08.08.2022 Shift-II
Ans. (¢) : SRE a9 § much & WH W 'very' bl
T @TIT Fiifs adverb 'fast' &l Modify Excicy faw
Adverb 'very' T ST gra 21

Correct sentence—
If you are going downhill you can go very fast.
110. Identify the segment in the sentence which

contains a grammatical error. If there is no

error, select 'No error'.

You should tell these children to complete their

projects himself.

(a) You should tell

(b) No error

(c) these children to complete

(d) their projects himself.

SSC CGL (Tier-II) 08.08.2022 Shift-II

Ans. (d) : ST F H ‘himself & WH W
'‘themselves' & AN BT Fifs T o subject
"children" plural 2 FARTT Plural possessive adjective
"their" T ST ga 2 o plural reflexive pronoun
"themselves" T JAT &t BT
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Correct sentence—

You should tell these children to complete their projects

themselves.

111. The following sentence has been split into four
segments. identify the segment that contains a
grammatical error.

I find that / I get myself tired / very easily /
these days.
(a) these days (b) I get myself tired
(c) I find that (d) very easily

SSC CGL (Tier-I) 21/04/2022 Shift-111

Ans. (b) : ST araT § " get myself tired" F WM W

T get tired" &1 YA BN i e B Reflexive

pronoun "myself" &1 ST Superfluous 21

Correct sentence—
I find that I get tired very easily these days.

112. The following sentence has been divided into
parts. One of them may contain a grammatical
error. Select the part that contains the error
from the given options. if you don't find any
error, mark 'No error' as your answer.

They had hardly completed / half of the work /
than the boss called them.
(a) than the boss called them
(b) They had hardly completed
(c) No error
(d) half of the work
SSC CGL (Tier-I) 20/04/2022 Shift-111

Ans. (a) : S AT ¥ "than" & WM R "when" H
SN I SRifeh hardly/Scarcely & WY "when" F JIT
24T 8| STelf% 'than' %1 J41T No sooner % H1% 2IdT &1
Correct sentence—

They had hardly completed half of the work when the

boss called them.

113. The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

My friend / who's leg / was fractured, / has
recovered.
(a) who's leg (b) was fractured
(c) My friend (d) has recovered
SSC CGL (Tier-I) 20/04/2022 Shift-I11

Ans. (a) : YU a9 § "who's leg" % WH W "whose

leg" ST YA g if%h "who" &1 YA Subjective case

¥ S@f% Whose &7 JAIT Possessive case & Adjective *

&Y # fan s 8

Correct sentence—

My friend whoes leg was fractured, has recovered.

114.

The following sentence has been split into four

segments. Identify the segment that contains a

grammatical error.

If he wants/ farther information,/ send him/ to

me.

(a) tome (b) send him

(c) If he wants (d) farther information
SSC CGL (Tier-I) 13/04/2022 Shift-1

Ans. (d) : SRS 9 | "farther Information" & T
W "further information" T SATTT &1 Fifsh ST & A

% IR F g 37 A R
Note : Farther — 3%
Further — 3T &

Correct sentence—
If he wants further information, send him to me.
115.

The following sentence has been divided into
parts. One of them contains an error. Select the
part the contains the error from the given
option.
This question / is quite too / simple for me / to
answer.
(a) simple for me (b) is quite too
(c) This question (d) to answer

SSC CGL (Tier-I) 13/04/2022 Shift-1
Ans. (b) : IS 9T "quite too" F WH | "quite"
1 JATT M FAH "too" HT FAT superfluous 2
Correct sentence—
This question is quite simple for me to answer.

116. The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

The recently hike/in the price of petroleum
products/will hit’household budgets severely.
(a) The recently hike
(b) household budgets severely
(c) will hit
(d) in the price of petroleum products

SSC CGL (Tier-I) 11/04/2022 Shift-111

Ans. (a) : S e H 'The recently hike" F YA W
"The recent hike" T ¥aNT &N &% 'hike” Noun
gfeTT Adjective '"recent" I pin '@”ﬂ, Adverb
"recently' &I Tl |

3?21'?1 Noun &l Qualify FH & fog Adjective ol AT
feparm ST 21

Correct sentence—

The recent hike in the price of petroleum products will
hit household budgets severely

117.

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

My older brother,/ which you’ll / meet later,/ is

a dentist.

(a) which you’ll (b) My older brother

(c) is a dentist (d) meet later

SSC CGL (Tier-I) 12/04/2022 Shift-I

Ans. (a) : SR e § "Which" & M T "Whom"
H FAN M FifH Relative pronoun "Whom" 1 T
s % T Objective case ¥ fhar wmar 8 S
"Which" &1 ST STHeR 3R a&qsil & fow fFar s g1
Correct sentence—
My older brother, whom you’ll meet later, is a dentist.
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118. The following sentence has been split into four

segments. Identify the segment that contains a
grammatical error.

My house / is more / spacious than / my sister.
(a) spacious than (b) My house
(c) is more (d) my sister

SSC CGL (Tier-I) 12/04/2022 Shift-I

Ans. (d) : SR T | "my sister" % M W that of|

my sister" & FAT ET FfH aTH H "house” HN T

sister % house ¥ & ST W 2 9 % sister ¥ AT

"that of" ST JNT I

Note : Comparison 2l §AH Noun % A& gl 21

Correct sentence—

My house is more spacious than that of my sister.

119. The following sentence has been divided into
parts. One of them contains an error. Select the
part that contains the error the given options.
The food/in the new eatery/is much best
than/the one in RK Puram.

(a) is much best than (b) in the new eatery
(c) the one in RK Puram (d) The food
SSC CGL (Tier-I) —24/08/2021 (Shift-I)

Ans. (a) : 3UUH 919 H is much best than & T T is

much better than 1 AT B FHif6 than & T

comperative degree (better) 1 AT Bl 21

Correct Sentence -

The food in the new eatery is much better than the one
in RK Puram.

120.

The following sentence has been divided into
parts. One of them contains an error. Select the
part that contains the error from the given
options.
The army/marched fearless/towards/the enemy
cantonment.
(a) marched fearless (b) towards
(c) the enemy cantonment (d) the army
SSC CGL (Tier-I) —23/08/2021 (Shift-I)
Ans. (a) : STIH aH 7 fearless (Adjective) F WM W
fearlessly (Adverb) & YaIT B Fiif arFr ¥ T
(Marched) verb H modify FA & U Adverb
(fearlessly) &1 TN 3T S 2
Correct Sentence-
The army marched fearlessly towards the enemy
cantonment.
121. The following sentence has been divided into
parts. One of them contains an error. Select the
part that contains the error from the given
options.
We don't really / want a large house; / we are
looking for some comfort / and some
convenience on a moderate price.
(a) We don't really
(b) we are looking for some comfort
(c) want a large house
(d) and some convenience on a moderate price
SSC CGL (Tier-I) -18/08/2021 (Shift-I)

Ans. (d) : IR 999 H and some convenience on a
moderate price % WM W and convenience on a
moderate price %l SN BT i F@t W some H T
superfluous 8 % and ¥ 2 §T & noun & foTT ¥ors
& ‘J%@ & & adjective <l I S noun & tl%ﬁ B
fepam ST 21
Correct Sentence -
We don't really want a large house we are looking for
some comfort and convenience on a moderate price.
122. Identify the segment in the sentence which

contains a grammatical error.

The small cafe at the end of the road is her.

(a) of the road (b) is her

(c) atthe end (d) The small cafe

SSC CGL (Tier-II) 16/11/2020 (3 pm - 5 pm)

Ans. (b) : I a9 H 'her' % M W 'hers' T SN
BN Eifh FEl Possession (3FR) femm & faw
possessive pronoun bl ST BT
Correct sentence-
The small cafe at the end of the road is hers.
123.

Identify the segment in the sentence which

contains a grammatical error.

No one of them came to the inauguration of our

new factory.

(a) No one of them (b) inauguration of

(c) came to the (d) our new factory
SSC CGL (Tier-1I) 16/11/2020 (3 pm - 5 pm)

Ans. (a) : S a9 § 'No one of them' & TIF T

'none of them' & AT 'EﬁTlT, Fifeh Sﬂ% dQ 'of +

objective pronoun' % @ 8= & fRafd & 'none' #

T B 2

Correct Senctence—
None of them came to the inauguration of our new
factory.
124. Identify the segment in the sentence which

contains a grammatical error.

She has been a member of this club since it's

formation.

(a) this club (b) a member of

(c) since it's formation (d) She has been

SSC CGL (Tier-II) 16/11/2020 (3 pm - 5 pm)

Ans. (¢) : I AT § it's' & W W ts' H T
BN I "It's — "It is" SEfh its HT TANT Possessive
adjective % &7 H g3 2 3 9% =€ Noun formation
T AT g3 2|
Correct sentence- She has been a member of this club
since its formation.

125.

Identify the segment in the sentence which
contains a grammatical error.
The three of them shouted out to each another
when the train started moving.
(a) The three of them
(b) shouted out to each another
(c) when the train
(d) started moving
SSC CGL (Tier-II) 16/11/2020 (3 pm - 5 pm)
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Ans. (b) : SYIH a9 H 'each another' & T W 'one
another' & S&NT 81| Hif% & o & fTT each other
g & ¥ 3 Al % fTC one another & JAIT &Il 21

Correct sentence- The three of them shouted out to
one another when the train started moving.

126.

In the following, some part of the sentence may
have errors. Find out which part of the
sentence has an error and select the
appropriate option. If a sentence is free from
error, select No Error.
Government has reportedly made its
displeasure, (1)/particularly on the speed and
stealth with which (2)/the negotiations are
completed. (3)/ No error. (4)
(@) 1 (b) 2
(c) 3 (d) 4

SSC CGL (Phase-II) 17/02/2018
Ans. (b) STI® a9 H 'which' (ST f) & M W that
(%)w;ﬁvmiﬁﬂﬂﬂ%a‘sm%wsﬁﬁ
a9 I 2|

Correct sentence—
Government has reportedly made its displeasure,
particularly on the speed and stealth with that the
negotiations are completed.
127. In the sentence identify the segment which
contains the grammatical error.
The river Yamuna has many non-native species
like goldfish that is affecting its eco-system.
(a) its eco-system
(b) The river Yamuna
(c) that is affecting
(d) has many non-native species
SSC CGL (Tier-I) — 06/06/2019 (Shift-III)
Ans. (¢) : IIH 99 § that is affecting F W W
that are affecting 1 YA IW[H BN Fifch a4 &
subject species (plural) % 3TTURX verb plural (are)
S &
Correct Sentence : -
The river Yamuna has many non-native species like
goldfish that are affecting its eco-system.
128. In the sentence identify the segment which
contains the grammatical error.
There isn't many rice left in the house so we
must replenish our stock soon.
(a) left in the house (b) our stock soon
(c) so we must replenish (d) There isn't many rice
SSC CGL (Tier-I) — 11/06/2019 (Shift-I)
Ans. (d) : 3T a9 H There isn't many rice F
T There isn't much rice T FaT 3U<H ﬁ’ﬂ, it 'rice’
singular uncountable noun %, /9% ST much FT =T
ﬁ?ﬂg ST countable noun & TTY many bl T
g 71

example- much rice,
(uncountable noun)
many students, many pens, many cats (countable noun)

much milk, much bread

Correct Sentence : -
There isn't much rice left in the house so we must
replenish our stock soon.
129. In the sentence identify the segment which

contains the grammatical error.

He is more smarter than his brother though he

does not earn much money.

(a) though he does not earn

(b) much money

(c) He is more smarter

(d) than his brother

SSC CGL (Tier-I) — 11/06/2019 (Shift-III)

Ans. (¢) : WG a9 § He is more smarter & TH T
He is smarter & FIIT 3Ygh @"TF, it double
comparative degree &l YANT U WY T e S g g
Correct Sentence : -
He is smarter than his brother though he does not earn
much money.

130.

In the sentence identify the segment which
contains the grammatical error.
I know the cobbler which mends the shoes
outside the gate of our colony.
(a) Iknow the cobbler (b) the shoes
(c) which mends (d) outside the gate

SSC CGL (Tier-I) — 06/06/2019 (Shift-II)
Ans. (¢) S a9 ¥ which mends % M W who
mends F AT SUE B R R W oaER d
cobbler (A=) & fAT which F1 JIMT Tad 21 cobbler
(W) U Toflg Ak @ fEe fU Relative pronoun
‘who’ %l ST &Il 2 |
Relative  Pronouns  (who/which/that) &l ERID]
Subordinate clause & Subject % ®9 H g1 21 M= who
F FAT GG & AT which &1 ¥a fAsifa & foaw qan
“that’ T ST ST % foTT 3@ M W &)
Correct Sentence : -
I know the cobbler who mends the shoes outside the
gate of our colony.
131. In the sentence identify the segment which

contains the grammatical error.

If so many catches had not being dropped, we

would have won the match.

(a) If so many catches

(b) had not being dropped

(¢) won the match

(d) we whould have

SSC CGL (Tier-I) — 07/06/2019 (Shift-1II)

Ans. (b) SWRE T | being % WM W been & JAT

BN | it f&&r T a9 conditional sentence type
11 8, R 'If clause ¥ passive voice FT FaM gaT 2|

AV.—[If; had + V*, would have + V|

P.V— |If : had + been + verb,, would have + v, |

Correct sentence :-

If so many catches had not been dropped, we would
have won the match.
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132. In the sentence identify the segment which
contains the grammatical error.

No sooner did he see the tiger when he ran as
fast as he could.

(a) no sooner did (b) he see the tiger

(¢) when he ran (d) as fast as he could

SSC CGL (Tier-I) — 10/06/2019 (Shift-1I)
Ans. (¢) Y a9 H when & TIH W than & ¥4I
ST g FhfE No soomer % ¥ co-relative

conjunction than T AT Bl 2|
Rule- No sooner did — Vi4........... than
No sooner had — Vyq4........... than
wfep-
Hardly had = Viq........... when
Scarcely had = Vjq........... when
As soon as — Vigeeoeeunnn. , (comma)

=7 gt Rules &1 Ja7T GHF 374 § fFar S 21

Correct sentence :-
No sooner did he see the tiger than he ran as fast as he
could.

133.

In the sentence identify the segment which
contains the grammatical error.
Entering the hall, the show had started.
(a) had started (b) the show
(c) Entering (d) the hall

SSC CGL (Tier-I) — 13/06/2019 (Shift-11I)
Ans. (¢) IWIH AT § Entering % WM W entered
YA SUh BN i Framd: Past & FE g9
Y g A S B g & 3Gh AT verb past perfect d2T
e 4 ﬁﬁ a4 & AT verb past indefinite ) ﬁm %I
Correct sentence :-
When he entered into the hall, the show had started.
134.

Identify the segment in the sentence, which

contains the grammatical error.

"Unless you did not do your homework you

will be punished," said the teacher.

(a) do your homework (b) unless you did not

(c) said the teacher (d) you will be punished
SSC CGL (Tier-I) — 12/06/2019 (Shift-1I)

Ans. (b) SR a9 H Unless you did not F WH |

unless you do <Rl SENT B, i unless (use as

conjunction) ¥ Negative word 2, ST 8 9T not

T AT T B 2

Correct sentence :-

"Unless you do your homework you will be punished,"
said the teacher.

135.

In the sentence identify the segment which
contains the grammatical error.
Having just taking a heavy lunch, she was not
ready to have any fruit.
(a) taking a heavy (b) she was not ready
(c) to have any fruit (d) having just

SSC CGL (Tier-I) — 12/06/2019 (Shift-III)

Ans. (a) : SR ad | taking % H W taken
TN BRI Perfect participle ¥ fpdl T ™ F TH
T & 9 TR HM F YE a4 5 Rafd §-

Having + verb IlIrd form + ....... 1 ST Bl 8
Correct Sentence :-

Having just taken a heavy lunch, she was not ready to
have any fruit.

136.

In the sentence identify the segment which
contains the grammatical error.
We will rest for sometime when we will reach
the top.
(a) We will rest (b) when we will
(c) reach the top (d) for sometime

SSC CGL (Tier-I) — 06/06/2019 (Shift-III)
Ans. (b) : ST 99 § when we will reach & TH T
when we reach ®1 YT 3T &1 FHifH 5@ A co-
related a9 Future Tense ¥ @ @ Subordinate Clause
FHIM Present Indefinite Tense § @ Principal Clause
gAY Future Indefinite Tense # 81T 21
Correct Sentence :-
We will rest for sometime when we reach the top.
137.

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.
Had you/not reached in time,/we will have/lost
our lives.
(a) Had you (b) lost our lives
(c) not reached in time (d) we will have

SSC CGL (Tier-I) —13/08/2021 (Shift-I)
Ans. (d) : IR® A H we will have & TH T we
would have & SANT BT Fifeh @ conditional
sentence 8 4T conditional sentence § ¥¥H clause &
Had + V° 84 W f5f@ Clause # would have + V° &
YA &I 2
Note- Had + Subject + V° + Other word + Subject +
Would/Could/Might + have + V* + Other word.
Correct Sentence -
Had you not reached in time we would have lost our

lives.

138. The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

We bought / two dozen's / mangoes from / the
market.

(a) mangoes from (b) We bought

(c) the market (d) two dozen's

SSC CGL (Tier-I) 20/04/2022 Shift-111

Ans. (d) : SR a1 " "two dozen's F T R "two
dozen" & FANT &M FHif% "hundred thousand, billon,
dozen" singular 3R Plural @4 case & ERCH) g 8
WfT af® 3% UYgd  definite number (one, two,
three....... )Wgwﬁ%ﬁm Plural F&f o 21

Correct sentence—

We bought two dozen mangoes from the market.
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